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Number of lone pairs of electrons present ‘

in xEF: nwlﬂC‘I.I'lﬂ I5
(A) 5
(C) 6

(8) 4
(D) 3 I

 has been accorded the honor
of the ‘Surya Kavi' of Haryanvi music genres |
Raagni and Saang.

(A) Surdas

(B) Kurmadas

(C) Lakshmi Chand

(D) None ol the above

1 1 1
| { —+—=+—..10 10 terms.
3. Find the value o 2*3's to 10

S -9
(A) 3 B8) 7
1
C) — D) N { the
(C) = (D) None of these
4, was the last king of Tomara dynasty

who handed over the throne of Dethi 1o his
son-in-law Prithviraj Chauhan.

(A) Vijayapala (B) Mahipala
(C) Anangapala (D) Gopala

5. The_Article of Indian Constitution which
provides for equal cpportunities for all the

people in public employment
(A) 16 (B) 17 '
(C) 14 (D) 15

6. Who won the Runners-up title of FIFA |
Foectball World Cup 2018 7

(A) Russia
(B) France
(C) Croatia
(D) None of the above

7. 'Pilya’ will be sung during occasion of
(A) Birth (B) Marriago
(C) Death (D) Holi

(A) 5
C (B) 4
| (C) 6 ) 3
% ;-——-hﬁﬂtﬂmnﬁrnﬂ%uﬁznmlﬁn
W“ﬁ‘mm&mwh
A e
(B) Fwizm
AC) awfiiz
(D) % % & = ¥l
!
11 1 a0
3. E+5+E...mm10ﬂ“mﬂl '
5 5 L T
" 3 o5 Jf;
L awfad *)-
© = (D) ¥ A g ok
4, A an = Afm o w1 oA
el =1 fere w9 TR gufra e
= dig 2
(A) faemama (B) wéTa
AC) 3 (D) T
5. WIde @faum @ st N ardafaE e
# ol @l w FEE saw tm R ?
(A) 16 (B) 17
(C) 14 (D) 15
6. % Fare fava w2018 w1 fefig fadm
Lack &
(A) ¥4 tn=
~B) ¥ -i,'-__f-g‘-'c ro-t L
(C) wifirm 2
©) TR a0 $424T+0-
7. ffemr % e womman wmem)
AR) = (8) faam
(C) T3 (D) wrefy L#°
QAn = 0-?(“")4 %
- -
Qo ~ L 4(lo-t "E')
o = u.-.':.'f"

Scanned by CamScanner

Scanne d with CamScanner



:E"'l . 0>
""" 22018 (5)
gusmnnnn i « ¢ N) TT af
I ~ 2 ' K, ( t ?h K=
b ot nmbors 0 Ok (ke or | 8 T o % v
ol AUl nUMberg n thﬂn ke ' " (B} qﬂ
o fe ®) o9 LK o) wAE™
AC) (©) None of these © 7 - difamd
9. "Sholkh chilli ka magbary: 1g g o v faeeh @ wHa <B)
(A) :";{lmhn (B) S":‘m In (A) e (D) uTATa
iy . (©) Thaneswar [0 e fpm T TR afverad
10. MMMOI.MMM 10 ﬁqfhﬂg‘nﬂﬂ
romrﬁngﬁmtnmhnmmm:ﬂmo ; ﬁ_-'nfamq'ﬂt? . PP
(C) Pune (0) Mumbai "c) Sﬂ‘l -
g1 WA Y
11. Following is not a pan of human sperm ". ﬁﬂmﬂ q A BA-T
7
(A) Acrosome (B) Mitochondria mtm (B) ﬂﬂm
(C) Axial filament (D) Antrum (C) i g (0) ‘Eﬂ _
12. Haryana recently celebrated its 12. i@ ER R4 %o el
foundation d-ﬂ‘r. ' &m wAa| . ““'#
(A) 427 (B) so° 44 a2l 8) soal T
(C) 537 (D) 55* ©) 534l (D) ssal ..'Etg
13. A number consists of three digits whose | 13. o v WA 3 ﬂﬁttﬁmm?m 173' —
-'-"m*f;L";T:ﬂmiddi;mufmmodsthﬂ ey aren wrh) 241 & 9m | 1w ) iR 3
sum ol the other two 1.|miﬂvﬂbﬂ mmmmhmﬂmagﬁm i
reversed, the number is diminished by 396, .
then the number is 0w &, A W o 2{
(A) 494 (B) 593 (A) 494 (B) 593 nh o
(C) 681 (D) 692 4(C) 681 AP) 692 R 1
14, is the smallest and the fastest | 14, g | waw o) Gﬁlﬂ?ﬁ'ﬂﬂﬂu
memory in computer. | A 1 “15.%1
(A) RAM (8) ROM (A) RAM (B) ROM
(€) Cacho (©) Hardoms -I:L b © TEFE  gas
15. is the first Indian wrestier to | 18, Tt whrequf o 2)
win two medals at the World Wrestling _ wm mﬂﬂ‘m':?: i 'ﬂR?:L
Championships. (A) frmg e ]
- -1 (A) Vinay Phogat
: (B) Sakshi Mallik
(C) Bajrang Punia
1-5-¢ (0) Sushil Kumar
€ 16, Find the missing terms:
L e @
(1 .4 (C) ababb (O}
L
g "%'%JJ
%('[""zh -.Lf ﬂik'::
. =) el . O
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17. Orderof the differential equation representing
the family ol parabolas y* = 4ax is
(A) 2 (B) Not defined
(C) 3 (D) 1

18. Index number of the last eloment of an array
with 9 elements is
(A) 9 (8) 10
(C) 8 (O) 0

19. India’s first Bullet train will run between
(A) Gandhinagar to Mumbal

(B) Ahmedabad to Mumbai

(C) Delhi to Mumbai

(D) Surat to Mumbai

Anil introduce Rohit as the “son of the only
brother of his father's wife". How is Rohit
related to Anil 7
(A) Cousin
(C) Uncle

(B) Seon
(D) Brother

Which of the following decides the eastem
boundary of Haryana by separating it from
Uttar Pradesh ?

(A) Ganga
(B) Yamuna
(C) Ghaggar Hakra

(D) Chandigarh

This district of Haryana is having least
amount of forest in terms ol area

(A) Rewari (B) Fatehabad
(C) Gurugram (D) Jind

21,

Overloaded functions are

(A) Long functions which cannot run

(B) One function containing anothe
function in it e
(©)

Two or more funclions wit

o ;',::'ﬂ i ?nd skl h same
of more umumimsamanam

but diff

s erent number of parameters or

4.

——

< O
ekl T
17. mf.m:qﬁmﬂmﬁmhm
|t W
AA) 2 (B) ﬁ!ﬁﬂ?‘l?ﬁ
(C) 3 (0) 1
18, © WA T TR ¥ AW T 6 GEES
woa d
(A) 9 (8) 10
(C) 8 (D) ©
19. WRA #) qEeh a *
Lickraif ™o
AA) TR g
(B) EwzraT Hut.
(C) foeeh = xut
(D) ¥ & g
20. fra tfta = oftag 3uk i fgesh &
vl wé & 1 % w9 7 wom 8 ke =
sfFadwEaut ?
_A) wHT T (B) T
(C) wm (D) ¥
21. fFr=fafaa 8 & @=-w g | Ieen |
v 0 g v gl e Puffm wn @ 7
(A) T
AB) T
(C) &=
(D) =B
22. &¥%a H g2 | wiamn #1 wa® w1 9 H
smreraren foren
(A) & {B) FATAR
(C) T (D) iz
23.  atfnnfa waTA R
(A) R AT A T TE T wE
(B) & FaTr o gwu A v @
(C) ®WH M, ¥&R 3N T F T9 AW
i waTH
D) A T A i w71y
T & WY 2 T AT A
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1. National Institute o;h
Solar Energy
2. Raja Ramanng Ceontre

for advance technology ®. Indore
3. National Dairy

Research Instityte ¢ Karal
4, National Bureay of

Plant Genetic 9. Now Doln
Resources

Select the correct -

(A) 1-a 2- cﬁp“%“_’: ENT below :

B) 1=a 2-p Jd=-¢ 4—d

(C) 1-a 2-d .

3~
(D) None of the above 2 4=¢

A capacitor fj
of permitivity
' 1 lose

charge acquired during a nnfehi:::,r;
=3 minutes. i thechargetoleakonly
'_chmugh the dielectric material, the resistivity
IS [chnrg;a decay takos place according 10
q = q.e™*" and hall time T, =0.693 RC)

(A) 1.39x10"Om (B) 25x 10" Om |

(C) 139x 10" Om (D) 25x 10" Om

26. was a major rebellion against
Aurangzeb, the Mughal Emperor, occurred
in Narnaul and surrounding localities in the
year 1672, which was led by Sadh people.
(A) Sikh revolt (B) Sepoy mutiny
(C) Satnami revolt (D) None of he above

27. is the world's oldest still-functional
1855 - built steam locomotive.

(A) Kalka Shimla train
(B) Fairy Queen

(C) Palace of wheels |
(D) None of these

28, The Jejaka bhukti was the usnf::\:;ra:w of |
(A) Allahabad " (g; o
(C) Bundelkha % asiin il
29,

ces acting on is
EITEJE ';:-n a horizonta! surfaco

A) Force due to U™
4€) Both (o) and (B)
(D) Force due 10

viscous 5.

3/2018 (5)

04, Preferfir ®) I3 IR & FFER Al

27.

28,

29,

o LU P —
2. A1 THOOT IHA b. ¥R
moE %

3. TN A0 JFRUH —c. A
"l

4, T wTEn wFEf d. ¢ Reeh
LALLPE

:ﬂ%ﬁmwmﬁmgﬁq:

A) i-a 2-c 3-b 4-d
B 1-a 2-b 3-¢ 4-d~
(C) 1-a 2-d 3-b 4-c
(D) I@ H & wr§ Tl

'hgﬂ!"ﬂﬂl E'=2.1 %%qﬂgﬁ%ﬂw

yfa v @ s wmg At = 3w

2ira ufta s and ag @) 2 81 Te W
fir aman #Fae angfes vard A Frre

E?nﬁinmh

(smm wifd q = q o™ & JFan At } 3

afwa T, =0.693RC)

(A) 1.39x10"Om (B) 2.5x 10" Om
(C) 1.39x 10" Om (D) 25 x 107 Om

__ad1e72d T ot sra-ura % A

1 yrat e et & e 1e e
w1, e e wrg @ g fie mn R
AA) o fagw 8) faumdl g
(C) waamdt (D) IWMmAJDETH
T w wrefirem andi oft w1
T v e R R
ﬁ} wrerE fmren 29
) ¥t Wi
(C) ¥am 3% wfiew
(0) v A #ré T
m\jﬁ}l w1 T |
#(A) XETETTZ (B)
iC) @H’l‘ 0) FAY

v &fe yres @
R et & " meEYs

(A) Tig wara & wne T
(B) %R W w0 A
(C) (A) 3k (B) 2t
(D) WM & Fw o

/
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30. Three married couples are to be seated In
a row having six seats in a Cinema Hall.
Find the number of ways of thelr seating I

‘ﬂ “11

vy dfﬁllﬁllll

90, ot [Nerfha quer w) ww fudon wfer o

0 el um vifan i Qarar By Az wlved
W\ vivs e ol aft o) nfeen sif o) v 1rd

all the ladies sit together. | st B |
(A) 36 8) 72 ~(A) 30 (D) ?.e
(C) 144 (D) None ol these (C) 144 () il 1w Al
- . ’ L. .‘
3. noing a wiki specios indor | 31, U wne) aAfA o) 3yraa geivye o siada M1
1 mﬁmmmmt 1o a8 CARTIP T e R
(A) Acchimatisation (A) e .
(B) Introduction ' AB) 3y 3
(C) Domestication (C) ] WM
# arqran
32. The highway research board was setupin | 32, T argeiur aind 7 _ # ;r
the year (A) 1973 ,(BJ 195
(A) 1973 (B) 1953 C) 1063 (D) 1947
(C) 1963 (D) 1947 (C) r
33. CPU of smalles! single user computer is 33, WWQ VR UF@ g w
(A) Micro-processor :gi
(B) Mini-processor
(C) Nano-processor _C) ﬁl-u\ﬁw
(D) Personal processor | (0) faht A
i wra F Tad T
R P.M. Narendra Modi inaugurated | 34, et € & itz ) 3 37m H WA &
- lmﬂlgngest bwgnl:ilAssum Il?:amed | ﬁm|mm E 1t g 2o
aher S T N
(A) Mohammad Rafi _AA) mm
(B) Manna Dey (B) =3
(0) Bhupen Hazarika (D) 7 T
35. Choose the pair ol words that shows
the same relationship as given pair ; > m a':r:?m RERE IR e s I 2;
Scalp : Hair,
(A) Home : Cattle (A) .97
(B) Nail : Nailpolish (B) 1T : Aauifera
(C) Grass: Earth C) T8 : uTh)
(D) Fur:Cap (D) &K : 2
1 1
3. A= then A 4 — = _ 1 1
V65 A’ @ e A= a-Jgﬁ'“”;?"
A
{{cl 430 (B) 22 A) 4y 8 2
) 1 (D) Non'ﬂﬂfthﬁSE (c) 11 0 ~ :
L (D) ¥4 | 1§ T
—— L
; e * ——— L I
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39.

a1.

42.

Whi
mal::qﬂ ?O! the (ol 3/2018 (?
(gl Goat « K nghnﬁloomcuy a7. ﬁﬁf?’l‘ﬁlﬂﬁﬂm-mﬂﬂwwt
EC; 20'30 . F%;E (A) Tl -aw T = e
(©) Buitap. Ambi ®) Srg-Gdt
%0 - Farr an (C) Vg~ F] AW |
E:fT:du: fort of Mahe i |
(A) Muhi"‘.'“-—--...ln r Sragarh was so | 38. m%mﬁ?@*‘m 18617
© M raja "ﬂfﬂnmu S W T8 QU T |
x Muharaia Maneedry o (A) et A% fire
o nonaraja Ranjigh g, O (8) werrn nfAz fire
(O) anuhﬁﬂb@.‘ Ngh (C) s it fée
Con (0) 37 %} wr§ Tl
““:’E?:“l_ha oW ol Uthors aboy gt & fay wrh F ferem
zation ang bout Ind 9. ¥ iy vt wvaen % iR @
the following is noy wm o D‘“l:' ) w1 it gﬁm frafafaa 7 /8 ®Y3-a1 v
(A) Gorden Childe ~ 11,9 pe e ? wifera Tet & 7
M.um (A) nidasmes - faywd & am
(8) R.D. Banerjee - ?hs;":r‘ ey gﬂ;rﬂ?mrﬁr
ople of
Indu
nf.mw oy (8) dmA. wTel ~ fingwrd % &m
(©) Dr.Guha - The Indus people zfirg &
?::Wtomixuﬁ (C) ﬂ_um - ﬁ"jF‘hﬂmﬂ
belonged 1t (D) - wmfera
Mangolian race ° %Te
One of the new age transport systems | 40,

called Pod Taxi Is proposed in India, it's a

(A) Cab pooling system by using drones

(B) It's a Personal Rapid Transit
system (PRT)

(C) Driverless maglev train

(D) Wmmmﬁm

Complete the analogue. .
TUEngAY - UUFSCAX :: SQUAREE

(A) TQVASED (B) 123::22 ‘
(C) TQVAQED (D)
179’
ﬂwvnhmdmsﬂcmfwﬂ'——“
" 7 ® ! |
(C) f i)~
' Jﬂ""'a

41.

42.

“@ﬁmﬁmﬁﬂqﬁm

Mﬁw;aﬂmmﬁmwg,“w
NI

(A) 1 %1 wam w7 wq

(B) =r uw duida Mg “‘“l?ﬁpﬂntt
(C) wrerwfin e termdy

(0) ¥z #mail ¥ erwrey d

(C) TQvAQED (D) TQvaRrep

COs1° cos 2° cos 3'....cos 170° wy T t

1
I 8) 1
(D) -1

(©) o

&b“
v 9
P

-
Scanned by CamScanner

Scanne d with CamScanner




3/2018 (5)

43. Amrita Pritam was honoured by Bharatiya

Jnanpith award for her Iiterary work
(A) Rasidi Ticket

(B) Pinjar

(C) Sunehade

(D) Kagaz Te Kanvas

Which one of the following is not a feature
of Marxist perspective on state ?

(A) State is an instrument of exploitation
(B) State is temporary

(C) Classes never abolished

(D) State is Universal

Rana Nimantrana, Guru Gobind Singh and
Yuddha Charita are the works of famous
Haryanwvi poet

(A) Uday Bhanu Hans

(B) Khushiram Sharma

(C) Ayodhya Prasad Goyaliya

(D) Tulsiram Sharma Dinesh

Select the word which is least like other
words in the group.

(A) Lake
(C) Wind

(B) River
(D) Current

47. Converse of the statement 'l x : y=3:2
then 2x = 3y’ is

(A) ll'x:yra:&.’lhenzxray
(B) HEx-.aythanx:y:G:E
(C) ffzxraymenx:yna:i’
(D) None of these

48. Which Section deals with
(A) 498-A of IPC
(B) 489-A of IPC
(C) 304-Bof IPC
(D) 304-Aof IPC

dowry death 2

49,

(D) ﬁ&m g
44, Frafaferm § @ #-91 @ T W ]
giRwrr ) o frdeen 7€ & 7 3
(A) T o T U ITE R §
(B) s areurdl B
(C) =i mfy 7¢1 vrd
(D) T 2
as. on P, 1w mifie fire o g i Fhet
itz el #fa #121
(A) 37T Wy ¥
(8) wreftur wmi
(C) Igran ware Mafera
(D) gewfiom wmi faaw
a6, aﬁ:ﬁﬁmgﬁqﬂmﬁmmﬁﬁm
!
(A) ¥ (B) T&
(C) & (D) 9
47. FTEFIA : MR x:y=3: 2

3
4B) Wox=3yMx:y=3:2 %
(C) uﬁ:zuaya‘m:;:s:é ’s

" (D) i AwE 2t~
A
48. ﬁﬂmﬁm-mmwﬁmt? ‘
(A) IPC ¥} 498-A I
(B) IPC 1 489-A 5
(C) IPC #1304-B ¥
(D) IPC#H1304-A o -"5
49. wTen 7w fawl & fifim o= & =y
¥ AT @i Fwe R
(A) WRFT  (B) TEARR A
(C) FFIT (D) TN =HE

o _ . & S
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55.

P
(A) 135 (W) ()
(C) 180 {‘g; s
In CPy, .
instruction 1o be meﬁma 10 the next

(A) Instruction register

(B) Program counter

(C) Memory butfer register
(D) Accumulator

Who is the current director of Haryana
Punjabi Sahitya Academy ?

(A) Gurvinder Singh
(B) Rakesh Sinha
(C) Narinder Singh Virk
(D) Ashwani Kumar

inite rule Is
In the series of letter a defin
lollowed. Determine the next two letters.

MKTUEILSVCHMHWDGNQKEFG??

PY
(A) YZ (B)
{C; ZA (D) PZ -
s n

The probability of getind an even ==
when a die is_rollod__!! .

2 ® 3
(A) 5 .
(C) % © 7

K,

55.

3/2018 (5)
v whe ! n «h :lm_zi

' friea ®) ok
A) wigh o
) e 0) 791
R LR A i —
avAr R
(A) r{qﬂl‘lﬁm (B) '{'ﬁﬂ'
‘c’ fm ij v M Lo

1010 a2 v a1l 3, fezaz £y P w2 oy #
"X IC R Akih A
(A) 1200
(C) 115

| fan oy siw A 7 wrEA e w7

frfav ) s prgen w1 gqarn w0 7
L] & ’ F F
g | AEn e s

12 13 30 993 412 ﬁ\
18 ) fy  (m) (g

(A) 135 (B) 115 \
(C) 180 (D) 72

Wrima, A T e
f‘-ﬁﬂ‘ﬂﬁ&?ﬁi’;ffﬂt: :3,,. ﬂ:‘
(A) faZa A &
(B) .'_.'mmm T
(C) ﬂ‘ﬁﬁlmm tv.;,;ﬂ
(D) vFETAZ \e*
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61.

62. Belore Independence, The high court of

Recently, Chief Minister of Haryana has
approved signing of agreement for

would add new storage capacities on two
tributaries of river Yamuna.

(A) Indira Gandhi dam
(8) Bakhra dam

(C) Kishau and Renuka dam
(D) Anangpur dam

The states which have highest Density of
Population according to 2011 census are
(A) Kerala and Uttar Pradesh

(B) Bihar and West Bengal

(C) Bihar and Delhi

(D) Bihar and Uttar Pradesh

Select the significance of meiosis.

(A) It helps in growth of multicellular
organisms

(B) It helps in cell repair

(C) It maintains the same number of

chromosomes in daughter cells as of

parent cell

(D) Itcreates variation

) is a structure builtin Chandigarh
by legendary architect, Le Corbusier.

(A) Close hand monument
(B) Open hand monument
(C) Right hand monument
(D) Left hand monument

Haryana and Punjab was situated at
(A) Amritsar (B) Rawalpindi
(C) Peshawar (D) Lahore

Who was the first speaker of the Lok Sabha ?
(A) Neelam Sanjiva Reddy - .

(B) M. A. Ayyangar

(C) Ganesh Vasudev Mavalankar

(D) Sardar Hukam Singh

Geographically Haryana contains
legislative assembly conslituencies.
(A) 14 (B) 10
(C) 70 (D) 90

58, e i i, whearm ¥ g 3

60.

61.

N—— "
forq T 3 L T A P B N T
A ) 7 qEaE
A&
(A) "f;mrﬂlﬂﬂﬂ

(B) WG alg
() faars shTH atu
3

2011 1t ST % AN A% T fn
e e w8

(A) @ fe 3 T

B8) faer 3fv afzem el

(c) fargme afv feeeh

(D) farer sfir IO TED

- (B) ma&ﬁm:ﬁlmﬁmﬂmm%

O e & s &
(0) e fafrven o T &

iz arggen, o FHE Iw
a¥g | "t T O weaan R

(A) W2 T EH

(B) T &

(C) TR T

(D) #fa @ =T

62. waam qd, i i e 3= =

% fRm a1
(A) AW (B) Tawfdz
(C) Twmar (D) =R
63. TIFEW & UYN TREIHT 97 7
(A) Hrem w<ira
(B) TWH. U. 3T

_4C) T AR WraEaR

64, mifers w9 A gfmmon 3

(D) @R FFH o

& &
(A) 14

(B) 10
(C) 70

(D) 90
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70.

71.

72

73.

Which Of the follow:
; lowin
'0 the ‘Sapa SlndhL?' dn?a: vor .
m?ntgnad in Rigveda oven tivers
avi
(C) Markanda {B; ?hh:l::nb
Ere;eﬂmg Centre sttuatedin Morm.PWtun
IS rh:_l IS a Purpose-buil Centre for th
brnoﬂmg ol ’

(A) Blue Peafowis (B) Chinkara

(C) Pheasants (D) Indian vulture
The Federal system with

Hybrid computers are used 10

(A) Convert the analog signals to digital
(B) Control air traffic and radar

(C) Work on binary digits

(D) None of the above

India won ICC under 19 World Cup 2018,
the final match took between India and

(A) England (B) South Alrica
(C) New Zealand (D) Australia
What is related to ‘Taka' in the same way
as ‘Lira’ is related to ‘ltaly’ ?

(A) Jordan

(C) Bangladesh

-11-

69.

70.

7.

72.

fFefataa 7 8 23-m wer 4 3feefon v
fayg @ wva afzm 8 3¢# s ? "
(A) h (8) ¥ 7,
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74,

75.

76.

77-

78.

79.

|f:t=3'.y:9'_z.27tnndxuyuzn.1

then abe =
(A) 1 (8) 27
€) —

27 (©) o

Initiation of milk secretion is called
(A) Lactogenesis
(8) Galact

(C) Galactopiosis
(D) None of these

According to Vayu Purana, which of the

following place is believed as the birth place
of Lord Hanuman ?

(A) Karnal (B) Hisar
(C) Kurukshetra (D) Kaithal

Consider the following about Rousseau's
General will and choose the correct
statements.
I. General will is the expression of inner
will,
ii, General will is infalliable.
iii. 1tis the best will of the individual.
iv. General will Is impersonal.
(A) i, lii and iv (B) iandiionly
(C) iiandiv (D) all the above

- deals with the synthesis of
pyrrole derivatives by the reaction of

{-keto-esters with a- chloroketones in the
presence of ammonia or primary amine.
(A) Paal-Knorr synthesis

(B) Knorr pyrrole synthesis

(C) Hantzschpyrrole synthesis

(D) Madelung synthesis

n-‘gaom

(A) x22

(B) x>2

(C) -2<x52

(D) x220rx<=-2

The criteria of essentialit of n
elements were given by J virlent

(A) Nicholas

(B) Amon

(C) Parker

(D) Amon and Stout

75.

78.

79,

qTg O & a:gm,ﬁmﬁ-!ﬁ'ﬂﬂﬁ%m‘
WAVAR A F AR AR

(A) TS (8) frum
(C) Fwam (D) %u=
A ) amrg 1= & 9 A Pefafe
faem &t sl wd R 1 | .
I W Y ST T R R g
i, T §E0T 3T 8
ii. T U wufe i garem g=m R |
Iv.. BT Yo aafwE R | .
(A) i, il 3T iy CEEGIE
(C) i ¥fMiv (D) IFa afl
_pFR-fmh
IR # Iufeufy o u.mmmma;

shufFm & umie :
A :,.Eaﬂf-ﬁﬂﬂm@mtl

(B) I yrgira |
C) !zmaamm
(D) &= Hyehoy

JA) x22 _ |
(B) x>2 RS
(C) -2<x<o o
(D] X e 2.111“5__2 LE-H
t?lmaﬁﬁ?ﬁam
mﬁmrﬂﬂl R AR 1= 0

(A) Ferem.
e

(C) tmh—#-_
(0) ¥ WM
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1. The “Indian Peng .. /2018 (5)
from nal Code® came o force | g1, wrceftm ¥E WkAL____ R R
2 (A) 6October 1ggq " (A) 63TWW1B60 .
= (B) 1July 1882 { 1 1882
(C) 1 September 1873 - 1 R 1873 -
(D) NOHHDII:I‘}Q;M - &‘{g: mﬁa‘:’iqﬁ
2. First iupor-comm“ of Indi 7
_ als W T B R e 8
(A) CRAY3 (B) HITAG 8. A) CRAY3 - (B) HITAC S-300
(C) PARAM (D S-300 ) TV
3. Most sit ! . ANTSATA ™= A
. Most sites of the Mature Mg i wgeart wvaen wan fay ol v
Civilisation aka Indus Val appan | 83.
Por - s ﬂmu;mmcoi?mthn aro ¥ srfrm o ¥ (am8) T K
(A) Ganga river | m'g: :;
(B) Yamuna river - a* Eg; mm
(C) Ghaggar Hakra river t-"-"f} S~ (C) W Ewa T
(D) Bias river w\; #'5‘,,‘} (0) =@ T
34. In CE configuration, if the voltage d farma #, 7R 5 kO vfaduw § A
coscte sl iﬁuls?'srgﬁnm:ﬂn me| ** frowe wtﬂéﬁsﬁsmhgq&w ﬁ‘ﬁ“{ L
rcuitiss v, the value of | .
when = 50. . B = 50 B U | W1 WA I *L|
(A) 0.01 mA {B) 025mA (A) 0.01 mA . (B) 0.25mA
(C) 0.03mA (D) 0.02mA (C) 0.03mA (D) 0.02mA
85. is the most widely spoken dialectof | 85, sfarerd ) gatfis aref searh
Haryanvi, el R
(A) Bagri (B) Bangaru (A) T (B) wmTE
(C) Ahirvati (D) Kharibol (C) ¥éarh D) T
86, I?m nll:e a:amtlinuliuuhnr:h are 3 i::"ri“mrl,tir.»l: 86, wgmmﬁmﬁﬁﬁﬁmmﬁ%t afw
c questions and each quest as vE § 9 A t R awtus
choices. Number of ways in which a student E
can fail to get all answer correct is Eﬂ'ﬁ?ﬁﬁmlﬂiﬁ ﬁlmt‘
(A) 11 (B) 12 ©) 12
(C) 27 (D) 63 C) 27 (D) 63
87. ::";?:it:: imputur kavtg;::l generally | 87, mgﬁmﬁmm R o A
(A) 104 (B) 53 (A) 104 (B) 53
(C) 26 (D) Allof the above (C) 26 (D) I
83. Highest magnetite ore avalilable inIndiais | 88, wNa # 3wy ATz T i T
(A) Orissa JgTey B
(8) Chhattisgarh ((;; mm
(C) Kamataka (C) wfew ‘&ﬁ_ -
(D) NOMQ'“HHDOVB (D) mﬁﬂ‘ﬁf"ﬂ @ a
- - ﬂ'g} « ¥ *

- '-"
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English Language
WNWMHWWMT

89. (A) Who do you think she is 7
(B) Emammummum
(C) Neither ol them was invited !

party
| was the man whom they though'!

was dead

| am as tall as she is

| swim better than him
AC) He gave me an advice
ND) Between you and me a

Select the correct option lurmumﬂiﬁed“’“’d "
the following sentences :

(D)

A
(B)

Hairs look dark |

o1.

(C) demonstrative pronoun

(D) reciprocal pronoun

None of his friends have came forward 10
help him.

(A) Indefinite pronoun

(B) Interrogative pronoun®

(C) Distributive pronoun

(D) Demonstrative pronoun

Select compound sentence from the following :

(A) |told him that he would be promoted
(8) When the siren sounded, all traffic

came 10 a stop
(C) He is a scientist and a philosopher too
(D) Smoking is bad for health
(A)

You can go by bus or by train
(B)

| shall do as | like
(C) When we wenl there we found that he
(D)

had gone
The annual sports will be held tomorrow

(A) g’ﬁﬁfl-m
(C) TqH + T (©) Wi + I

100. o i & A
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